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THM 415: Finance

Final Exam
1. Explain “Call Provision” and “Conversion Feature” of bonds. (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
2. Kolarov Company is considering issuing bonds that will mature in 20 years with a 6.25 % annual coupon rate. The interest will be paid monthly. Kolarov Company is hoping to get a BBB rating on its bonds and, if it does, the yield to maturity on similar BBB bonds is 8 %. However Kolarov Company is not sure whether the new bonds will receive a BBB rating. If they receive a BB rating, the yield to maturity on similar BB bonds is 9.75 %. What will be the price of these bonds if they receive a BBB or BB rating? (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. Amokachi Company’s bonds mature in 15 years time and promise to pay 7 % coupon interest quarterly. Suppose you purchase the bonds for $ 1,250.99.

a) What is Amokachi Company’s promised yield to maturity? (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Assume there is a 30 % probability of default on this bond and if the bond defaults, the bondholders will receive only 80 % of the principal and interest owed. What is the expected yield to maturity on this bond? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
4. Tarık preferred stock has a dividend rate of 8.88 % and a par value of $ 350. Suppose, furthermore, that the appropriate market required yield for a stock of this risk level is 6.55 %.
a) What is the value of Tarık preferred stock? (1 point)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) If this very stock is traded currently at a market price of $ 465. Would you buy the stock? Why? Why not? (2 Points)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Assume the following:

· The investor’s required rate of return is 22.50 %.

· The expected level of earnings at the end of this year (E1) is $ 30.25.

· The retention ratio is 30 %.

· The return on equity (ROE) is 25 %
· Similar shares of stocks sell at multiples of 35 times earnings per share.

a) Determine the expected growth rates of dividends. (1 Point)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Determine the price earnings ratio (P/E1). (1 Point)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
c) What is the stock price using the P/E ratio valuation method? (1 Point)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
d) What is the stock price using the dividend discount model? (1 Point)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
e) What would happen to the dividend and stock price if the company increased its retention ratio to 80 % (holding all else constant)? What would happen to the dividend and stock price if the company decreased its retention ratio to 10 %? (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. Balbay Company is considering two mutual exclusive investments. The projects’ expected net cash flows are as follows:
	
	Expected Net Cash Flows

	Year
	Project A
	Project B

	
	
	

	0
	($3,250)
	($1,550)

	1
	$500 
	($200)

	2
	($225)
	$1,000 

	3
	$600 
	($100)

	4
	$700 
	$900 

	5
	$800 
	$800 

	6
	$900 
	$700 

	7
	$1,000 
	$800 

	8
	$1,100 
	 

	9
	$1,200 
	 

	10
	$1,300 
	 


a) What is the Net Present Value of Project A and Project B at an appropriate discount rate of 8.77%? (1 Point)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) What is the Equivalent Annual Cost of Project A and B? (1 Point)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
c) What are IRR for Project A and B? (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
d) What are MIRR for Project A and B? (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
e) Which project should be chosen? Why? (2 Points)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
f) At what discount rate are you indifferent to choose between A and B projects? (2 Points)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

7. FJD Corporation is considering two mutually exclusive investments. The projects’ expected net cash flows are as follows:

	
	Expected Net Cash Flows

	Year
	Project A
	Project B

	
	
	

	0
	($33,750)
	($80,000)

	1
	$80,652 
	$42,500 

	2
	$24,789 
	$37,500 

	3
	($5,000)
	$32,500 

	4
	$55,470 
	($25,000)

	5
	$30,823 
	$50,000 

	6
	($1,200)
	$67,800 

	7
	$12,400 
	($1,500)


a) Calculate each project’s IRR and MIRR. Assume that appropriate discount rate is 10.75 %. (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) If the discount rate is 18 %, which project should FJD Corporation select? (1 Point)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
c) Calculate the payback period and discounted payback period for each project. (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
d) What are the drawbacks of using payback period as an evaluation criterion? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
8. Karakartal club, a firm in the 28 % marginal tax bracket with a 9 % required rate of return or discount rate, is considering a new project. Due to increasing request for a room at the club, management is planning to increase capacity by an additional 40 deluxe rooms. Karakartal club board of directors are willing to finance the project only if they get enough evidence that it will be feasible within a maximum of 5 years period. That’s why management estimated the following bits of information for the same period in question:

· Cost of added capacity (including equipment, materials and construction): 6,000,000 TL
· Shipping and installation costs: 50,000 TL
	Year
	Covers Sold

	1
	10,000

	2
	10,500

	3
	11,200

	4
	11,800

	5
	12,900


· Average price per room: 200 TL in year 1; An increase  of 10 % for the remaining years (i.e. 1 to 5)
· Variable cost per room: 70 TL in year 1; An increase of 5 % for the remaining years (i.e. 1 to 5)
· Annual fixed costs: 100,000 TL
· Working capital requirements: There will be an initial working capital requirement of 45,000 TL just to get started. For each year, the total investment in net working capital will equal 11 % of the monetary value of sales for that year. At the end of year 5, all working capital is liquidated.
· The depreciation method: Use the simple straight line method over 5 years. It is assumed that the plant and equipment will have no salvage value after 5 years.
a) Determine the yearly net cash flows associated with the project? (3 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Determine the project’s Profitability Index (PI)? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
c) Calculate the discounted payback period. (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
d) Calculate the Internal Rate of Return of the project? (1 Point)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
e) Shall the project be undertaken? Why? Why not? (2 Points)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck
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